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D. C.S. Forster novel about an observatory? (1,4,4,1,4) ___

125

___

122

___

174

___

78

___

114

___

202

___

181

___

134

___

154

___

167

___

68

___

11

___

60

___

15

E. Constellation between the Great Bear and the Charioteer (4) ___

81

___

65

___

165

___

91

F. What the Big Bang did to the Universe (3,2,6) ___

14

___

69

___

130

___

203

___

51

___

41

___

149

___

208

___

112

___

32

___

20
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P. North-south measurement (8) ___
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Q. More data, for example (7) ___
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R. Aldebaran, with regard to the Hyades (9) ___
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S. Indirectly measured exoplanet information (9,4) ___
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T. Sagittarian asterism (9) ___
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U. What a bright comet would do at an observing session (5,3,4) ___
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